Manufactured by Infrared Dynamics

ALFRESCO
HEATING

888-Warm-Glo
www.alfresco-heating.com
30 Pamaron Way Suite L Novato CA 94949

SUNGLO REPLACEMENT HEATER HEADS PRICING

Item # Description $ Price

10278 1 Natural Gas Head Assembly w/o Spark Ignition (Light with lighter) 431
(PSA265, A242,A244MAN)

10278 2 Natural Gas Head Assembly with Push-Button Spark Ignition 496
(PSA265, A242,A244MAN)

10278 3 LP Gas Head Assembly w/o Spark Ignition (A270 OLD STYLE) 453

10278 4 LP Gas Head Assembly with Push-Button Spark Ignition (A270) 539

10278 5 Natural Gas 24 Volt Standing Pilot Head Assembly 647
(PSA265V,A244V)

10278 6 LP Gas 24 Volt Standing Pilot Head Assembly (PSA265V,A244V) 636

10278 7 Natural Gas 24 Volt Electronic Ignition Head Assembly 755
(PSA265VE,A244VE)

10278 8 LP Gas 24 Volt Electronic Ignition Head Assembly 755
(PSA265VE,A244VE)

NOTE: ALL SUNGLO HEAD ASSEMBLIES ARE WITHOUT EMITTER GRID.

REPLACEMENT HEATER HEAD

/7 CARTON PAD
/ OUTSIDE CARTON

Updated June, 2011. Prices subject to change without notice.




Alfresco-Heating.com 888-Warm-Glo

Manufactured by
Infrared Dynamics

The Original Outdoor Patio Heater

SUNGLO REPLACEMENT PARTS LIST
LP & NATURAL GAS HEATER HEAD

# PART# | DESCRIPTION $
1 70017 [ NUT, % - 20 HEX SS Y
2 70024 | WASHER, % fender SS Y
3 10261 | REFLECTOR 105
4 70006 [ BOLT, ¥ X % HEX SS 1
5 70033 | WASHER, % X INTER SS ¥
6 27006 | EMITTER GRID ASSEMBLY 183
7 70025S | SILVER CLIP (older models) 1
8 30225 | HEAT SHIELD 14
9 302022 | PAN HEAD SS 69
10 70005 [ SCREW, #8 X %2 SS Yo
* SCREW, 8-32 X %2 SS TAPPING Yo
11 30204 1 | PERF CYLINDER W/O DS 64
302045 | PERF. CYLINDER W/ DS 64
12 27007 | BURNER ASSEMBLY 96
13 70030 | 1" CLAMP 4
14 35001 31 | ORIFICE #31 NG 4
35001 49 | ORIFICE #49 LP 4
15 35012 | ORIFICE ADAPTER 3/8 13
16 10300 | CONTROL VALVE NG 237
10299 | CONTROL VALVE 24V NG 291
10298 | CONTROL VALVE LP 215
PROPANE BLANK PLATE ON VALVE 15
* NAT GAS REGULATOR ON VALVE 40
17 800051 [ NIPPLE, 3/8 X 1-5/8 3
18 80025 [ REDUCING BUSHING 4
19 70065 [ WING NUT SS 1
20 27018 S [ BASE ASSY, LP A270 SS 54
27018 2 | BASE ASSY, NG 24V SS 59
27018 | BASE ASSY, NG S/S 54
SNG
21 90031 | THERMOCOUPLE 18
22 80031 [ TUBING, % X 14L 4
800312 | TUBING, ¥4 X 14L SS 8
80026* | TUBING-VALVE COMPRESSION 2
FASTENER %"
23 90021 [ PILOT BODY NG WI/ORIF 26
90022 | PILOT BODY LP W/ORIF 26
24 90015/ | PILOT ORIFICENG/LP 5
90016
* PILOT INSULATION - 9" 3
SG-PAC | PILOT ASSEMBLY COMPLETE 48
25 27017 | PILOT SHIELD 20
26 27025 | VALVE KNOB 15
27 30213 [ PILOT CHANNEL 12
28 70020 [ SCREW, #10 X 1% SS Y ‘
29 30299 [ PILOT HOLE COVER 1
*NOT SHOWN ALFRESCO

HEATING

Updated June, 2011. Prices subject to chanye wiuivut nuuce.



Manufactured by Infrared Dynamics

The Original Outdoor Patio Heater

SUNGLO
DIRECT SPARK IGNITION
PARTS LIST
# | PART# | DESCRIPTION PRICE
1 [ 900652 | ELECTRODE WITH LEAD 26
2 [ 70037 SCREW #8-32 X 3/8 Vs
3 | 70038 NUT #8-32 Vs
4 [ 306233 | IGNITION COVER 13
5 | 70072 SCREW #8-32 X % SS Vs
6 | 30623 BRACKET FOR SPARK 32
MODULE
7 | 30269* IGNITER GROUND PLATE 6
8 AA CELL 2
9 [ 90071 SPARK MODULE 33
11 [ 302045 EE&W—';@P@NQPARK 64

ALFRESCO
HEATING

888-Warm-Glo
30 Pamaron Way Suite L Novato CA 94949
www.alfresco-heating.com

Updated June, 2011. Prices subject to change without notice.



Manufactured by Infrared Dynamics

E - SERIES PARTS LIST

# | PART # DESCRIPTION PRICE

1 | 30204 8 PERF CYLINDER E 49
SERIES

2 [ 302133 COVER, MODULE E 10
SERIES

3 | 90021 NG PILOT BODY 26

90022 LP PILOT BODY 26

4 190076 PILOT ELECTRODE 38

5 127018 2 HD BASE ASSEMBLY 59

6 [ 70030 CLAMP 4

7 [ 900751 | WIRE HARNESS E- 19
SERIES

8 |30213 PILOT CHANNEL 12

9 [ 800314 PILOT TUBING E- 4
SERIES

10 | 27007 1 BURNER FOR E- 85
SERIES

11 | 30214 MODULE SHIELD E- 2
SERIES

12 | 35015 ORIFICE ADAPTER 15

13 | 35001 31 | NAT GAS ORIFICE 4

35001 48 [ LP GAS ORIFICE 4

14 | 90065 3 ELECTRODE 26
ASSEMBLY

15 | 70072 SCREW 8-32 X %2 Ya

16 | 70025S SILVER CLIPS 1

17 | 70052 SCREW #8 X % RHSM Yo

18 | 90075 MODULE 24V 211

19 | 80053 NIPPLE %2 X 2"L 3

20 [ 900721 NG CONTROL VALVE 172

21 | 80025 FACE BUSHING %2 X 4
3/8

22 | 85861 MOMENTARY SWITCH 8

el Tl ALFRESCO
HEATING

888-Warm-Glo
www.alfresco-heating.com

Updated June, 2011. Prices subject to change without notice.


http://www.alfresco-heating.com/

e = Manufactured by Infrared Dynamics

sllyyi0

The Original Outdoor Patio Heater

MODEL A242 PARTS =
LIST =z
0 LTg
# | PART# | DESCRIPTION PRICE @\ / B
1 | 27024 NG | SLIP COLLAR A242 BLACK 42
1 |30257S SLIP COLLAR A242 SIS 42
2 | 70026 SCREW #8 X 3/8 SWHSM Ya
3 | 80008 PIPE ONLY A242 2 X 68 %" 32
4 | 30264 POST ONLY A242 BLACK 134
4 | 30264 S POST ONLY A242 S/S 270
5 | 80023 ELBOW %2” 4
6 |10264 1B | A242 BASE ONLY BLACK 289
10264 1G | A242 BASE ONLY GREEN 289
10264 1S | A242 BASE ONLY S/S 394
7 | 80054 NIPPLE Y2 X 1-Y% 2
8 | 80019 COUPLING %2 4
9 | 27027 BOLT PACKAGE A242 3
POST
10 | 27020* A242 FLOOR CLAMP 14
(3PCS)
* OPTIONAL

Phone 888-Warm-Glow

Local 415-884-2880

Fax 415-884-0755

E-Mail glow®@alfresco-heating.com
Website www.alfresco-heating.com
Address 30 Pamaron Way Suite L
Novato CA 94949

Updated June, 2011. Prices subject to change without notice.


http://www.alfresco-heating.com/

Manufactured by Infrared Dynamics

“ MODEL A244 & A244V

g PARTS LIST

The Original Outdoor Patio Heater
# | PART DESCRIPTION PRICE

#

1 | 10257 HANGING BRACKET 389
2 | 80023 ELBOW - 4
4 | 80003 NIPPLE Y2 X CLOSE 2
5 | 70036 BOLT 3/8 X 2-%» HEX Y5
6 | 70013 WASHER 3/8 Y
7 | 70059 NUT 3/8 - 16 HEX SS Y5

“L" Bracket
— — " (Supplied by

Installer)

ALFRESCO
P e HEATING

Phone 888-Warm-Glow
Local 415-884-2880
Fax 415-884-0755
www.alfresco-heating.com
30 Pamaron Way Suite L
Novato CA 94949

, c;v/ hi

o o o g

2" “EL"” Condulet 2" Electric
(Supplied by Conduit (Supplied
Installer) by Installer)

Updated June, 2011. Prices subject to change without notice.



Manufactured by Infrared Dynamics

k)

i
]
s " | | “

The Original Outdoor Patio Heater

@h\. '_‘%’
7
"2 MODEL PSA265 PARTS LIST
R
/ N # | PART# | DESCRIPTION PRICE
F 1 | 27024 NG | SLIP COLLAR A265 39
BLACK
30257 S SLIP COLLAR A265 S/S 39
2 | 70026 SCREW #8 X 3/8 Ya
SWHSMS
3 | 80008 PIPE % X 62 ¥4 BLK 32
4 | 30266 POST ONLY 84" BLACK 93
30266 S POST ONLY 84" S/S 299
5 | 80023 ELBOW % 4
6 | 80078 ELBOW % STREET 3
7 | 80054 NIPPLE Y2 X 1 % 2
8 |80024 2 UNION %2 31
9 | 80003 NIPPLE Y2 X CLOSE 2
10 | 90063 2" SHUT OFF VALVE 13

[ []

ALFRESCO
HEATING

888-Warm-Glo
www.alfresco-heating.com

(Gl

Updated June, 2011. Prices subject to change without notice.

30 Pamaron Way Suite L
Novato CA 94949



http://www.alfresco-heating.com/

Manufactured by Infrared Dynamics

The Original Outdoor Patio Heater

iy
N

17 7

)

SUNGLO A270 PARTS LIST

# | PART # DESCRIPTION $
1 | 60008 1 LIGHTING INSTRUCTIONS 5
2 | 30280 94 POST ONLY: Specify Color 92
2 |30280S POST ONLY: S/S A270 164
3 | 80006 2 PIPE ONLY: 42" FOR A270 20
4 | 70011 NUT, 3/8 ACORN
Y
5 | 70013 WASHER, 3/8 LOCK Yy
6 | 70007 BOLT, 3/8 X 3/4L SQUARE 2
7 | 70025 EYEBOLT, 3/16 S2 W/NUT %
8 | 70012 BOLT, 3/8-16 X 1 ¥ %
9 | 70059 NUT, 3/8 %
10 | 10264 2S BASE ONLY STAINLESS 279
10 | 10264 BASE ONLY — Specify Color 280
11 | 302795 S/S “L” BRACKET FOR A270 40
30279 “L”" BRKT FOR A270 - Specify 24
Color
12 | 70029 HOOK, 1% S %
13 | 27036 A270 CHAIN 2
14 | 27033 4 DEC COVER ONLY: 291
STAINLESS STEEL
27033 DEC COVER ONLY 169
(SPECIFY COLOR)
90017 4 HOSE/REG ASSEMBLYQCC 53
— Standard As Pictured
90017 5 HOSE/REG ASSEMBLY Q/D 53
— w/ Brass Quick Disconnect
Coupler to Tank
80011-2 OLD STYLE HOSE ONLY - 27
32"
27002 5 SOCKET ASSEMBLY: 177
STAINLESS
27002 4G SOCKET ASSEMBLY 69
(SPECIFY COLOR)
80085 REDUCER %2 X ¥4 4
90078 Q/D NIPPLE FOR POST 7

ONLY

ALFRESCO
HEATING

Phone 888-Warm-Glo
Local 415-884-2880
Fax 415-884-0755
30 Pamaron Way Suite L Novato CA 94949
www.alfresco-heating.com

Updated June, 2011. Prices subject to change without notice.




	SUNGLO REPLACEMENT HEATER HEADS PRICING

